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Bl ERE KRBT EEE
gz | XRER | AREHR |- | BHEEE(%)
B ST REEE | 00 O |TEEER )@ x
(a) (b) 100
fH-a>o)—k 5 5 4 1 80.0
Hhfig - ELHE 3 3 3 0 100.0
Jrigi- & 7 7 5 2 71.4
RiE 6 6 5 1 83.3
SRAE-EHE 3 3 2 1 66.7
ERE 2 2 2 0 100.0
I -TRIAN 11 11 8 3 72.7
AVTFUR 6 6 4 2 66.7
B 6 6 3 3 50.0
R 4 4 3 1 75.0
B 53 53 39 14 73.6
LRI KRENEEE(T—XA)
soay | sane | nmste | nEsm |Brarey atx
BN H Ay | > amzy | zmzy | amzn | (A ~awEg (%)
(E45) () (A) | BeES | 2BEH | B (A) N | O/ x
(a) (N) (AN) (AN) (b) 100
f|-aro)—k 20 13 5 5 8 385
Hhfig - EpE 5 4 2 1 0 1 3 25.0
Jrigi- &hh 11 7 2 2 5 28.6
& 13 10 7 1 1 7 3 70.0
RE-EtE 3 2 1 1 1 1 1 50.0
B 1 7 5 5 2 71.4
I -TRIAN 23 17 10 2 1 9 8 52.9
AVUTFFUR 17 13 7 7 6 53.8
[ & 21 15 10 3 3 10 5 66.7
RiE 11 8 3 3 5 375
it 135 96 52 8 6 50 46 52.1
TEREHHNEEHER
- sme =, - S R BIRE
RERICRDHIRER ey ZEEHR | £LHR | OEEM | DEEE |[EREREHR|
vnmstte | FEER| 00T | awan | mwan | awan | 0 [Toan| 0
RBROFE (a) (N) (N) (N) (b) 100
A (k) 107 83 44 — — 44 39 53.0
i (ZER) 28 13 8 8 6 7 46.2
B 135 96 52 8 50 46 52.1




LRI KRB HEEE(2—AB)

= N N ABRE
) gz | ZREH | SHER Jv o
a) (b) 100
fH-a>0)—k 18 18 16 2 88.9
HhAg - B 13 13 11 2 84.6
AT - e 34 31 24 7 77.4
BE-BE 10 10 8 2 80.0
#RTH - Hhisg 5 5 2 3 40.0
XA 29 29 25 4 86.2
P RIL-HT 27 25 23 2 92.0
5 13 13 11 2 84.6
AE-AE 1 1 1 0 100.0
IHRTAVE 47 45 35 10 77.8
;P 7 7 5 2 71.4
RE-IR)IL¥— 18 18 14 4 778
=i 222 215 175 40 81.4
1R REMEEE(O—RA)
= BRE
) gzx | TREHR | EREH Jv 0
T vl IS I e B
a) (b) 100
|-avo)—k 49 31 16 15 51.6
HhfE - LR 16 12 8 4 66.7
i - #m 54 41 26 15 63.4
RiE 42 28 18 10 64.3
E-EE 25 14 10 4 71.4
B 18 5 3 2 60.0
BI-IRIAUE 53 39 24 15 61.5
AVTFUR 20 13 12 1 92.3
i 28 23 12 11 52.2
RiE 16 11 6 5 54.5
it 321 217 135 82 62.2
ZREGASRER
. e | ZBER . | BHE=E
ZERMIE AR HAEH ) EREY |FEBEY] (%)
DHE (N) @ (N) (b) (N) (b)/(a) X
100
A (k) 132 100 67 33 67
" (ZER) 189 117 68 49 58.1
b 321 217 135 82 62.2




1HREKREMTEER (3—XB)

= BHRE
) i} 2 ZEREH | EBEH s 0
100
fM-a>o)—k 3 3 3 0 100.0
e - R 2 1 1 0 100.0
AT - i 30 28 25 3 89.3
wmE-BF 4 4 3 1 75.0
#ih - thig 0 - -
XA 11 10 10 0 100.0
R RIL-H#TF 7 7 0 100.0
52 3 3 0 100.0
RE-AE 3 3 0 100.0
IRT AL 18 18 15 3 83.3
i 9 9 6 3 66.7
RE-IRILE¥— 2 2 0 100.0
=&t 92 88 78 10 88.6
2 KRB EE®
BRE
SEE ZEREN | EREN |FEREY| (%)
(AN)(a) (A) (b) (AN) (b)/(a) X
100
=R EAERE 15 15 0 100.0
R=Z 180 135 45 75.1
EL RS 3 3 0 100.0
ELRE 62 53 9 85.5
= A 213 189 24 88.7
ZDHh 4 4 0 100.0
it 477 399 78 83.6




